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Instructions : (1)  Figures to the right side indicate marks of that question.

1. (a)

(b)

()

(2) Use of simple calculator is allowed.

Define coefficient of correlation and state its properties. 4

‘ OR
Explain the types of association of attributes.

1200 students appeared in an examination. Qut of them 900 were boys and

remaining were girls. Total 975 students passed in the examination and total 240
girls were failed. 4

Can it be said that the given data is consistent ?
OR
Find Yule’s coefficient of association from the following data and interpret it.

(B) = 520, () = 600, () = 380, (AP) = 200

Find rank correlation coefficient from the following data : 6
X [70 75 62 70, 8 .95 70 101 51 60
Y |35 39 35 20 42 47 20 35 58 33
OR

Obtain correlation coefficient from the following bivariate table :

6 1 3 |
8 9 2
2 5 4

Explain the meaning of business forecasting and explain its importance in short. 4
OR
Describe any four methods of business forecasting.

Fit a straight line to the following information and forecast the sales for the year

2013 : 4
Year |goq1 2003 2005 2007 2009 2011
Sales
276 295 324
(in thousand ) __Z_Eﬂ - ) 0 S . s
OR

5 P.T.O.



Fit a second degree parabola to

the following data and forecast the profit for the

year 2012 ;
| Year  [2007 2008 2009 2010 2011
Profit 15 1
(in lacs %) _ 8 23 30 39
(c) Forecast the production for various years by exponential smoothing method taking
o = 0.25 and initial estimate 100 : 6

|Year 2005 2006 2007 2008 2009
Production 120 130 144 168 200

Taking initial forecast 40 and o = 0.6, forecast

exponential smoothing method :

S —

OR

2008 2009 2010 2011 2012 |

Year |
| Price (in 3) 48 56

64 60 72 I

3. (a) Explain the utility of demographic statistics.

OR

the price for different years by

State the defects of demographic statistics and suggest the steps to remove it.

(b) The total population of a.city is 21 lakhs. The proportion of males and females in

the city is 4 : 3. Among total females 55% are in fertility age groups.

fertility rate of the city is 40, then find its crude birth rate.

Find general fertility rate and total fertility rate from the followin g data :

OR

Age 1823 2328 28-33 3338 3843 43.48
Fertility rate 72 88 66 30 6

148

If the general

4

(c) From the following information of two cities find their standard death rates and

compare them :
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!
S i o et Standard
(in years) | Population | No. of Deaths Population Death per Population i
r thousand |
0-8 5000 180 9000 42 8000
8 -20 8000 160 15000 16 30000
20-50 | 10000 120 16000 14 36000
50-75 15000 450 20000 27 20000 "I
Above 75 | 7000 350 15000 | 54 6000 °
OR
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(a)

(b)

(c)

(a)

Find crude and standard death rates of both cities from the following data

considering Anand as standard city and compare them with re

| Age (in years) —

Population -___l'-in. of Dgatl?_s_

(0—5 4000 160

Explain with illustration.

(i)

Null matrix

(i) Diagonal matrix
(i11) Skew symmetric matrix
(iv) Transpose of a matrix

OR

5130 9000 144 7000
30 - 60 15000 135 12000
Above 60 12000 | 204 8000

gard to health :
Anand | _____Kalol
Population No. of Deaths

3000 96 i

84

132

128
4

State the conditions for two matrices (i) to be equal, (ii) for addition-subtraction
and (ii1) for multiplication.

2 -3

IfA=[ 3 1 ],than find 4A - 3A' + 7A"]

OR

Solve the following equations by using inverse matrix:

2 ] 3 ~T g0 2 |
IfA=| 1 0 -2 |landB=] 3 1 0
L3 -2 3_

2x-3y+21=0
Sx+4y-5=0

=3 1 1

thenfind (i) A2+3(B=~A)and

(i) A<B'+2 (A% B)

OR
Solve the following equations by using inverse matrix.
X+ty+z=8§
3x+y—z=0
2x=3y—-z=35

Answer the following questions in short :
State two illustrations which shows positive correlation between two

(1)

(2)
3)
(4)
()
(6)
(7)

variables.
What is coefficient of association ?

State the normal equations for fitting a straight line.

Ifa=0.2, S, =208, T, =8, then find %,.

What 1s infant mortality rate ?
What is total fertility rate ?

Define identity matrix with illustration.
7

7
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(b) Select an approprate alternative from the following :
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(1)

(2)

(3)

(4)

()

(6)

(7)

If the correlation coefficient between x and y is — 0.6, then the correlation

coefficient between 20 — 3x and 30 + 2y is

(a) 0.6 (b) 0.9
c) -06 (d -09

B
@);J—)' » then there is

For two attributes oo and B if (e B) <

between them.
(@) Lack of association (b) Positive association
(c) Negative association (d) Zero association

The weights given to the different observations in exponential smoothing

method are in .
(a) Arithmetic progression  (b) Harmonic progression

(c) Steady progression (d) Geometric progression
For comparison of standard of health of two cities measure is used.
(a) TFR (b) SDR
(c) IMR (d) CDR

k -3
If matrix [ 3 K ] is skew symmetric matrix, then value of k will be
(a 3 (b) -3
() 6 (d 0
If order of matrix-A is 2 x 3 and that of matrix B is 3 x 4, then the order of
product matrix AB will be :
(a) € 2x 3 (b) 2x4
(c). 3x4 (d) 4x2

2 -3

Ifmatn'xh=[4 5],then|Al=
(a) 22 (b) -2
(c) =22 (uy 2




